ZO|2

=2

b

0 = ol o = 0. p
W o~ RO R * W
oo ME g &R’ 51 O
N ~u ol ar 8 _ ¥ o R
F % % us Sl Moo
— W oy RI< 0 WE _y s mo G+ 2
o) W 5 0 T T Kl o op ™ - 9 w0 B
J_...VA_. T U = Al W our GRIEET nto?
o w % 2 7 & o) Ko = = & o o
Ow_rg8 %om “ ,og_aoma%_ = R
SeELagld BIYNMKE . RERLE
mo%o____ummm___w B R L=
B0 g Ko za s = T mEAR
S arpPgtF om = _ = © S I =
A o £l ) = mA%ﬂoCam s oWy
G el W 50 w2 3 Q 0 o M
18m_. o R g A SRR o WD 3 o__o__AOQOTL
< o SN AT o gy m D
Ko o Ko ~ B8O ﬁ ou_-n_ I ulo U m_._ H 35 M 2Tk m_a ) 0
TN T Moo 3 op __AI_._@M_“._:'M_WN#HQW __.A.v._mo_moﬂ._vua:_m:
7 ~N = _I.I N m _|r 110 O_-._ -
e N oo w 38l = o 20 W
s < & T TE
=) K LW m_._rmh o
_._._._ KO E.EH.QE.__ i __9_
= oo =0 20l i oF
o] o = il Bl o ) ¥ ?
wwm a3 B, 0 Q5
= oz o & ﬂm.},um_._: M.n.z <0l ! ,@
K =% v o O ) gr o () Pl
34 : of O 3 = 20 4 D @“
__ oD = ol v — o &
Fwozs Sl S g1 Kl "
o <D= ol EmA £ %mﬂ ™
— 32 ) E.* - ol al L Ja = _IT_U
T & . sW K0 m=d A T Ut )
5 O R0 i X
ur o5 0oy SRE SEy gy | O
¢ S i =
= 0 = [+{1] slla, oja o =0
o 255 MIETCIEE - - A
ol = o _A_.O T b 1 U.__| _.H
T russ <M —_ K mﬁ R
— 0o - p— I ! |
i KD 7 ) _.A_l { | = 2_ ._.ﬁ_
= ] L= 3 ul et} <)
= 2 T o e ! i e 1 I
7 W ) Al ol q
Roo U & T 3~ 7l i
S 5 M . W.,.. i M_.
o ﬂw il




O T 4
S EER
6/1 Wed 6/3 - Fri
EEED R
A2 T (1.5.6.)
SH2HH](2.5.6.13.)
( || Besnzes
H=&H(1.5.6.8.13. S 2 2 9 ¥ o
HE A (o]} = T 3 S =
Ageand CElRIHARS(5.6.) | (1.2.5.6.10.15.16.)
=17 b= 2 %1 (9.13.
21 (9. 13.) Aawa( )
OreloH= e VeI Yk
 OILAXI/ SN /2t /& | 483.8/22/116.6/3
466.8/21.9/84.1/2.3
6/6 ‘Mon 6/7 | Tue 6,/8 Wed 6/9 Thu 6/10 - Fri
e E=p ey HEEMe(1E)(6.) | AEdaia=y N0 E=y
SHESERR(56.) | HSEER(1.56.9.10.1 | SLAD(5.6.13.16.18.) | 22 2X=(5.6.13.)
HZ2L0SER(1.5.6. | 3.17.18.) AXISHIT01(2.5.6.13.) | DIESEH AT (1.2.5.
13.) MED(1.5.6.10.13.) | 2HAAXTSRS(2.6. | 6.10.11.12.13.)
o MEHERIAAZRI(6.10.1 | BATMUES 10.) REYENESS
8= 2.13.) Hmeas(156.10.12. | #US9A HESS=H(1.2.5.6.9.13
==gueue 13.) WOIMCIH=(1.2.56. | .17.)
B 211 (9.13. ) 2€71(9.13.) 13.) 2E((9.13.)
e wezopze(2.) BHZ 20 %1 (9. 13. ) L0l A%(1.2.5.6.13.)
* OIAXI/SHNR /2t 8 | « OILIKI/CHME /2 /3 |« OILXI /SR /28 |+ X/ SR /2t o
390/19.8/93.3/2.8 523.6/24.4/157/5.9 411.7/20.4/49.9/2.5 436.3/16.3/49.6/2.5
6/13 +Men 6/14+ Tue 6/15 Wed 6/16 Thu 6/17- Fri
F—— AEEHE(1.5.6.9.10 e e
s me | Azzzzezzw 13.18.) S EECLEED ESQ|2KE2(1.5.6.10.13.)
I ADI122(5.6.13.16.) | 2LE2(5.) SHE(1.) N2 BUIER0l(1.2.5
Aol 569 1012 | ERROI.13) HXRZ2 X (1.4.5.6. | XIS ER(1.5.6.13.) | 6.10.12.13.)
A HEH(2.5.6.13.) 9.13.) A= 2228 (5.)
R 21519 13.) HES2E(56.) ABQO|2 & 2 A2EX1 7201 (6. ) SSAENA(1.2.5.6.10
T2 X19.13. 2<71(9.13.) PR 2 2T121(15.) BIZ= 21l (9.13.) 12.13.16.)
SeE ol (1) us= BIZ=21%1(9.13.) oI (2.) £2121%/(9.13.)
Ioﬂux,/mux./aw/ * OIAXI/Srom 2 /8 | AFOIBHE AL DH(5.13.) © QIEAXI/ SR 2 /d | DUTL(1.5.13.)
ne e e e T | 430.5/31.5/71.5/3.4 » OIAXI/CHE/2has/E | 423.9/23.7/180.8/2.5 | * OILAKI/Croim/2ra /&
-4/18. 415.7/25.9/92/2.5 450.2/14.3/56.1/1.5
6/20 -Men 6/21+ Tue 6/22 Wed 6/23 Thu 6/24 Fri
X2 HEDY I BAH0HDY dazsna=y
OSE2(5.6.9.18.) | aooonig i NOIE(5.6.18.16.) | EH0A(5.6.9.18.18.) | S Azl 1%16.)
HDETETE(15.6.10 | Soppodo o) | @xN24(156.13.) SHOMERE(5.6.13.) | o T = (58]
13.) ESHERSO6.10.13.) | ooy m=npa(1.2.5.6.12 | HAMR(1.5.6.9.12.13.) | %:18:)
SSTAEE(5.6.9.13.1 | 2o=8(5.6.13.) 13.) =©2)(5.6.10.15. 16,1 | S 8XA(9.13.)

2 691811 oxomxim(1.2.56.9.1 | L)L oL = 6.10.15.16.1 | oxpy ez 22i%31(5.6.)
5) ] 50 SUBLNWLE(13.) | 8.) o]
Dlx=428(56.13) | 550 1) HHZ= 211 (9. 13. ) B 20 %1 (9.13. ) T o
ey, 2=J1(9.13. otz SHEDILMACT (1.2, 13..
222(0.13.) SDaSadin( 25, | BROERAB(B) | @ASHUMRAS(125. | Lz os 6o 0
2y T RET e 9%@ © IR/ SR/ 2ts/E | 11.12.13.) N
 OIAX /S a2 s o S 438.4/13.9/64.8/1.9 f OIUIR SR sy | )
457.8/23.6/156/3.9 419/21.4/79.9/1. 429.4/18.8/205/5.8 * OlLX/Sand/2s/d

-8/23. : 480.7/26.6/182.2/2.8

6/27 +Mon 6/28 Tue 6/29 Wed 6/30- Thu
HE B E Dy i‘fji;ﬁ‘jiﬁ%‘ , L o . | AEREOERE
ADISAHNR(5.6.13.1 | To=NEER(5.6.) Pod e O R MmN (5.9.13.)
6.) ©=20[(1.5.6.12.13.) (2.5.6.10.13.) 2 KRB A (2.6.10.)
SOBURR(25.6.18.) | CEASAFLH(5.) | LZATR(1.) oA (e
SR RULUAS(T. | 24 DS E DO | SZRYFLRE —EE'EH““E(S'G )
456.8.13.18.) (1567100 X2 201(10.) S 220%(9.13.)
Heese=(5.6.89.13 | 6710, = : ol E
17.18.) 2t=71(9.13.) HiZ=2X1(9.13.) oz = H oS
£2r20%/(9.13.) nooot 3 £ 0| AHE2(13.) (5.6 1;) m e
==tiel U/t /2 &/ 3 .
B s 2 (1.2.5.6.10.l2.15.1 18 |+ WX EEIE | s s
433.4/25.7/96.4/3.6 * R/ 2E/8 | 422.2/20.2/74.9/2.6 460.3/24.1/103.1/4.2
484.5/18.2/269.5/3 ~o/ea 17109174
O g 2 AAX] AE oHH http://school.jbedu.kr/busong—k-> 220l —> AlMEH
O B BE - (U2 2929 3.0 4T2 505 6“' 7.0S018.H 9.MS 10.GXIDJ| 11.220 12.£0tE 13.0+2
AE 145515517 16410 17.280 18.2N2(2, M=, =8 T
O 2l |2 SAHIE AMMESHIZ AE2oD] Sl =08 26t UCH, 2LUHA 2 52, 2UAMAEE 2US S
Non-GMOAIES S AME6lI0 M=o H2E DIcHE ol =&l USLICH



